Question Paper with Final (Revised) Answer Key for the Post of Law Officer (English)

held on 02-11-2018

Itemcode : LE1001
Q1:  Which of the following is not a ground to repudiate a contract?

A | Coercion

B |Fraud

C |Unilateral Mistake

D |Undue influence

Correct Ans: C

Itemcode : LE1002

Q2: Knowledge of the terms of the offer is essential for acceptance. This was ruled in-

A |Felthouse v. Bindely, (1862) 6 LT 157

B |Pharmaceutical Society of Great Britain v. Boots Cash Chemists, (1952) 2 QB 795

c |Bhagwan Das Goverdhan Das Kedia v. Girdhari Lal & Co., AIR 1966 SC 543

D |Lalman Shukul v. Gauri Dat, (1913) 11 AQLJ 489

Correct Ans: D

Itemcode : LE1003
Q3: A bid at an auction sale is-

A | Offer

B |Invitation to Offer

c |Cross Offer

D |Agreement

Correct Ans: B

Itemcode : LE1004
Q4:  Which of the following is not relevant:

A |Entries made by a doctor in his diary about patients visit

Entries made by hospital (Nursing staff) in their diaries regularly maintained about date of both of

Cc |Entries made by a business man in his personal diary specially maintained about advances given to Mr. x

D for Mumbai.

Entries made by supplier of timber in his diary regularly maintained about a particular driver (x) regarding the date he left Delhi

Correct Ans: C

Itemcode : LE1005
Q5:  For establishing undue influence, the party causing undue influence must have-

A |a real or apparent authority over the other

B |in a fiduciary relation to the other

Cc |Both (a) and (b)

D |[None of the above

Correct Ans: A

Itemcode : LE1006

Q6: A promise founded on motive of generosity, prudence and natural duty is a promise:

A |Adequate consideration

B |Insufficient consideration

Cc |No consideration

D |[None of the above

Correct Ans: C
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Itemcode : LE1007

Q7: A corporation invites tender for performance of certain work. Mr. X files the bid, which is lowest and was accepted by
authority. However, the same was neither communicated nor cancelled. Such Agreement is regarded-

Completed

No acceptance at all

A
B |Incomplete
c
D

None of the above

Correct Ans: C

Itemcode : LE1008
Q8:  Mandatory Corporate Social Responsibility will apply to a company when

A |Its paid up share capital is 100 crores or more

B |Its net profit during any financial year is Rs. 50 crores or more

C | The turnover of the company is Rs. 1,000 crores or more

D |The net worth of the company is Rs. 500 crores or more

Correct Ans: C

Itemcode : LE1009
Q9:  Matters related to labour laws (exemptions apart) are covered under

A | State List

B |Union List

c |Concurrent List

D |None of the above

Correct Ans: C

Itemcode : LE1010

Q10: A declaration of a person in possession of a house that he (a) is the tenant, goes against the interest and is relevant and
admissible because

It is the statement against pecuniary interest

It is a statement as to the relationship of pedigree

A
B |It is a statement against proprietary interest
C
D

It is a statement relation to matter of general interest

Correct Ans: B

Itemcode : LE1011
Q11: A person is shown to have been in possession of a number of play cards all printed out at one time from one original typed
evidence it is with respect of other play cards

Oral Evidence

Secondary Evidence

A
B |Primary Evidence
c
D

None of the above

Correct Ans: B

Itemcode : LE1012
Q12: Under section 3 of Transfer of Property Act, 1882 the following does not amount to notice:

A |Registration where the instrument is compulsorily registrable

B |Registration where the instrument is not compulsorily registrable

C |Possession

D |Notice to agent

Correct Ans: B

Itemcode : LE1013
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Q13: Concession was given to new industries by state in power charges for a period of 5 years. However, the industries which
were earning profit this concession was withdrawn a year before. Does any of the following (which is correct) provision can

be involved by such industries

Stopped

Both of the above

A
B |Promisory stopped
C
D

None of the above

Correct Ans: D

Itemcode : LE1014

Q14: Which of the following is correct;
A Lunatic is;

In competent to testify

Competent to testify unless it is prevented by his leenacy from understanding the question put to him.

A
B |Competent to testify without any bar
c
D

Discretion of the court is exclusive

Correct Ans: C

Itemcode : LE1015
Q15: A mortgage by deposit of title deed is called:

A |Anamalous mortgage

B |English mortgage

Cc |Equitable mortgage

D |Unsufructuary mortgage

Correct Ans: C

Itemcode : LE1016
Q16: Which of the following taxes has been abolished in Feb. 1999 ?

A | Wealth tax

B |Gift tax

c |Income tax

D |Corporate tax

Correct Ans: B

Itemcode : LE1017
Q17: What may be transferred

A | Spec successionis

B |A right to sue

C | A right to re-entry to owner for breach of a condition subsequent

D |A right to future maintenance

Correct Ans: C

Itemcode : LE1018
Q18: Extensive judgement delivered by apex court relating to Sexual harassment at which of the following cases?

A |D.K. Basu v. State of W.B.

B |M.C. Mehta v. Union of India

C |Vishakav. State of Rajasthan

D |IJMM case

Correct Ans: C

Itemcode : LE1019
Q19: Who amongst the following gave first secularized Natural Law?
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Hugo Grotius

John Rawls

A
B |Thomas Aquinas
c
D

Karl Marx

Correct Ans: A

Itemcode : LE1020

Q20: Point out corporation sole among following given combinations:

a) The President of India

b) Chief Minister of a State

c) Karta of Hindu Undivided Family
d) Idol of Hindu Temple

Pick correct combination:

All of the above

Only (a) and (c)

A
B |Only (a) and (b)
C
D

None of the above

Correct Ans: C

Itemcode : LE1021
Q21: Consider the following points:

a) Rawls developed a theory of justice based on analytical device of social contract.
b) Aristotle divided justice into corrective and distributive justice.
c) Michel sandal’s theory may be categorized as communitarian justice.

d) Swaraj of Gandhi represents a comprehensive notion of justice both for the individual and society.

Pick correct answer:-

All of the above

Only (a) and (c)

A
B |Only (a) and (b)
c
D

None of the above

Correct Ans: A

Itemcode : LE1022
Q22: Non est Factum means:-

A |Document executed in ignorance

B |Document executed outside India

Cc |Document executed under coercion

D |Document executed under undue influence

Correct Ans: A

Itemcode : LE1023

Q23: The appropriate Government has power to fix minimum wages under the provision of Minimum Wages Act, 1947

In organized sector

In any industrial established

In unorganized sector

o|lo|lwm|>

In public sector
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Correct Ans: B

Itemcode : LE1024
Q24: Which of the following judgments explained the effect of 42nd amendment of the constitution on the protection of the Civil
Servants under Article 311 ?

Keshavananda Bharti V State of Kerala

A.K. Kripak V Union Bank of India

Managing Director, Electronic Corporation of India V B. Karunakar

A
B
C
D

S.N. Mukharji V Union Bank of India

Correct Ans: C

Itemcode : LE1025
Q25: The ‘doctrine of eclipse’ has been applied by the Supreme Court. Choose the correct among following.

A |In respect of Fundamental Rights

B | While adjudicating on legislative relations between the Centre and the States

C |To examine the validity of an amendment to the constitution

D |All the above.

Correct Ans: A

Itemcode : LE1026
Q26: Match the following

‘A’ gives a lakh of rupees to B reserving for himself with B’s assent, the right to take back at pleasure rupees 10,00, out of
the lakh. The gift;

Is wholly void

Holds good as to 90,000

A
B |Isinvalid
C
D

Is onerous

Correct Ans: C

Itemcode : LE1027
Q27: ‘Attested” in relation to an instrument means and shall be deemed always to have mean attested by at least:

A |One witness

B |Two witness

C |Three witness

D |Four witness

Correct Ans: B

Itemcode : LE1028
Q28: 1In which of the following case possession of property comes innocently-

A |It means an act by which a living person conveys property

B |He conveys property in present or in future

C |He conveys property to one or more other living persons

D |He cannot transfer property to himself and one or more other living persons

Correct Ans: S (S Denotes question scrapped and weight-age to all )

Itemcode : LE1029
Q29: The Doctrine of Part performance is contained in

A |Section 52

Section 52-A

B
C |Section 53
D |Section 53-A
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Correct Ans: D

Itemcode : LE1030
Q30: Under sec 146 during cross examination a witness could not be asked question

A |To test the veracity

B |To discover who he is and what is his position in life

C |To shake his credit by injuring his character

D |[None of the above

Correct Ans: D

Itemcode : LE1031
Q31: Under sec 125 can a police officer be compelled to disclose the source of information as to the commission of an offence..

A |Yes

B |No

C |The court will decide

D |None of the above

Correct Ans: S (S Denotes question scrapped and weight-age to all )

Itemcode : LE1032
Q32: Remedy of ‘foreclosure’ is available in which one of the following mortgages:

A |Usufructuary mortgage

B |Simple mortgage

C |Mortgage by conditional sale

D |English mortgage

Correct Ans: C

Itemcode : LE1033
Q33: An actionable claim can be transferred by:

A | A registered instrument

B |An instrument in writing singed by the transferor

C | A registered instrument attested by two witness

D |Oral agreement

Correct Ans: B

Itemcode : LE1034
Q34: Fill in the blanks the correct one given below in items:

For Hindus is an offence, punishable with seven years of imprisonment even though a muslim can have
four wives.

Adultery

Monogamy

A
B
Cc | Polygamy
D

Polyandry

Correct Ans: C

Itemcode : LE1035
Q35: What is the minimum number of Judges which sit together to constitute a constitutional a full court.

A |3
B |5
c |7
D |9

Correct Ans: C
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Itemcode : LE1036

Q36: The test of directness was rejected by Privy Council in;
A |Wagon Mound case

B |In re Ploemis case

C |Thomas V Quartermaine

D |Donoughue v Stevension

Correct Ans: A

Itemcode : LE1037

Q37: A puts an notice in a newspaper inviting tenders for supply of furniture. It is an (choose the most appropriate;
A | A promise

B |A proposal

C |An invitation for negotiations

D

An invitation for proposal

Correct Ans: D

Itemcode : LE1038
Q38: Which case is associated with the invalidation of Article 371-D(5)(proviso)of the constitution of India.

A |Keshvanand Bharti V State of Kerla

B |S.P. Sampat Kumar V Union of India

c |L. Chandra Kumar V Union of India

D |P. Sambamurthy V State of Andhra Pradesh

Correct Ans: D

Itemcode : LE1039
Q39: (A) Fair Comment on the matter of Public interest is a defence against Tort of Defamation

(‘R) Fair comment is essentially an extension of Freedom of speech

(A) and (‘'R) both are true and ('R) is the correct explanation of (A)

(A) and (‘'R) both are true and ('R) is not correct explanation of speech

(A) is true and ('R) is false

A
B
C
D

(A) and (‘R) both are false

Correct Ans: A

Itemcode : LE1040
Q40: Which is the correct match?

A |Leggatt Committee -Tribunal

B |Committee on Minister’'s power - Constitutional Reforms
C |Arrears Committee - Economic Reforms

D |[Swarn Singh Committee - Environmental Protection

Correct Ans: A

Itemcode : LE1041
Q41: Which of the following is incorrect ?

A |Tape recording of conversation is a documentary Evidence.

B |Discovery of fact with the help of Tracker dog is scientific evidence.
C |Statement in an affidavit constitutes evidence.

D |Electronic record is documentary evidence in India.

Correct Ans: C

Itemcode : LE1042
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Q42: Wednesburry Principle is associated with principle of It is primary

A |Delegated Legislation

B | Principle of Natural Justice

C |Reasonableness

D |None of the above

Correct Ans: C

Itemcode : LE1043

Q43: 1In a contract for the sale of specific goods, if at the time of the contract the goods have without the knowledge of the seller,
perished then

The contract is void for both the parties

The contract is legal for the buyer

A
B | The contract has become illegal
C
D

The contract is voidable at the option of the buyer

Correct Ans: A

Itemcode : LE1044

Q44: Maximum punishment for the offence of money-laundering under the Prevention of Money Laundering Act 2002. Choose the
Correct one:

Rigorous imprisonment of three years or fine

Rigorous imprisonment of seven years and fine

A
B |Rigorous imprisonment of five years and fine
c
D

Rigorous imprisonment of ten years and fine

Correct Ans: D

Itemcode : LE1045
Q45: Choose the incorrect match from few provisions of the Representation of the people Act 1951 given below:-

A | Disqualification arising out of conviction and corrupt practices section 21 A

B |Registration of Political Parties with the Election Commission: Section 29A, part IV A

Cc | Political Parties entitled to accept contribution of any amount : Section 29 B Part IV A

D |Declaration of donation received by the political parties: section 29C Part IV A

Correct Ans: A

Itemcode : LE1046

Q46: Which amongst the following is not a function of the SEBI under section II of the securities and Exchange Board of India Act
1992

Regulating the business in stock exchanges and any other securities markets

Prohibiting insider trading in securities

A
B |Promoting and regulating self-regulatory organization
c
D

None of the above

Correct Ans: D

Itemcode : LE1047
Q47: 1In which of the following cases, consent is said to have been ‘free consent’ under the Indian Contract Act?

A |When the consent is given under coercion.

B |When the consent is given due to undue influence.

€ |When the consent is given under misrepresentation.

D |[When the consent is given emotionally, not by proper application of mind.

Correct Ans: D

Itemcode : LE1048
Q48: When a contract is enforceable at the instance of only one party, it is known as
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Valid Contract

Unlawful Contract

A
B |Voidable Contract
c
D

Void Contract

Correct Ans: B

Itemcode : LE1049

Q49: 1In Shreya Singhal V Union Bank of India which of the following provisions of the Information Technology Act 2000 was struck
down as unconstitutional by the Supreme Court.

Section 66A

Section 66C

A
B |Section 66B
C
D

Section 66D

Correct Ans: A

Itemcode : LE1050
Q50: Which of the following statements is incorrect in respect of plea bargaining?

A |Plea bargaining has been allowed in India

B |Plea bargaining is a procedure by which an accused pleads guilty in exchange for a lesser punishment

Cc |Plea bargaining is a allowed in all the criminal cases.

D |The concept of plea bargaining was introduced by Criminal Law (Amendment) Act, 2005.

Correct Ans: C

Itemcode : LE1051
Q51: Cyber crimes are primarily punishable under.

A | The Unlawful Activities (Prevention) Act

B |Criminal Procedure Code

Cc |Evidence Act

D |Information Technology Act

Correct Ans: D

Itemcode : LE1052
Q52: What does corroborative evidence mean?

A |Evidence on the basis of which the accused is discharged.

B |Evidence on the basis of which the accused is convicted.

C |Evidence which supports other Evidence.

D |False evidence in a case to mislead the court

Correct Ans: C

Itemcode : LE1053
Q53: Which of the following legislations has been replaced by the Competition Act, 2002?

A |Consumer Protection Act, 1986

B |Foreign Exchange Management Act, 1999

C |Essential Commodities Act, 1955

D |Monopolies and Restrictive Trade Practices Act,1969

Correct Ans: D

Itemcode : LE1054

Q54: Which of the following articles of the constitution provides that the law laid down by Supreme Court is binding on all the
courts?
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Article 32

Article 141

A
B |Article 39
C
D

Article 226

Correct Ans: C

Itemcode : LE1055
Q55: A divorced Muslim wife

A |cannot marry till 9 months and 10 days after divorce

B |can remarry immediately

C |cannot marry till the time of iddat is over

D |can marry at any point of time but only with the prior permission of Kazi

Correct Ans: C

Itemcode : LE1056
Q56: In what circumstance Post decision hearing could be accepted

A |[In normal circumstances

B |When action is preventive

Cc |Both (a) and (b)

D |In no circumstances

Correct Ans: B

Itemcode : LE1057
Q57: The doctrine of basic structure was propounded by the Supreme Court in :

A |[Sajjan Singh Case

B |Golak Nath Case

Cc |Keshvananda Bharati case

D |[A.K.Gopalan

Correct Ans: C

Itemcode : LE1058

Q58: X is a good swimmer, he finds A, a child of 5 years of age drowning in a river. He could have saved the child by jumping into
the river and bringing the child back. But he did not do so and the child drowned and died X is guilty of:

Murder

Culpable homicide not amounting to murder

A
B |Abetment to suicide
c
D

No offence

Correct Ans: D

Itemcode : LE1059
Q59: Which of the following is a Special Directive?

A | The state shall secure that the citizens, man women equally have the right to an adequate means of livelihood.

B |Every citizen shall renounce practices derogatory to the dignity of women.

C | The Supreme Court may pass such orders as is necessary for doing complete justice.

D |There shall be a special officer for linguistic minorities appointed by the President.

Correct Ans: D

Itemcode : LE1060
Q60: What is Judicial Restraint?

A | Power of a court to restrain the executive from proceeding with a particular policy.

B |A Judge must rescue himself/herself from deciding a case in which he or she has an interest.
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C | The court should not interfere with actions of the state, where there no ‘Judicially manageable standard’ is available.

The courts should, generally speaking, interfere with the policy matters of the executives unless the policy is to further

D constitutional goals.

Correct Ans: C

Itemcode : LE1061

Q61: In which of the following cases, the Supreme Court of India, for the first time, observed that Article 14 strikes at arbitration
in State action and ensures fairness and equality of treatment. The principle of reasonableness, which legally as well as
philosophically, is an essential element of equality or non-arbitrariness pervades Art.14 likes a brooding omnipresence?

Meneka Gandhi V Union Bank of India 1978

Ajay Hasia V Khalid Mujib 1981

A

B |E.P. Royappa V State of Tamil Nadu 1974
c

D

R.Shetty V International Authority of India 1979

Correct Ans: B

Itemcode : LE1062

Q62: Article 25 & 26 of the constitution relate to the Right to freedom of Religion. Which one of the following is not true, as laid
down by the Supreme Court, about the content of these article?

A That the protection of these articles is not limited to matters of doctrine of belief, they extend also to act done in pursuance of
religion and therefore guarantee for rituals observances, ceremonies and modes of worship which are integral part of religion.

B That what constitutes an essential part of religion or religious practice, has to be decided by the courts with reference to the
doctrine of a particular religion including which are regarded by the community as a part of religion.

c That what constitutes an essential part of religion or religious practice has to be decided by the heads of the religion with
reference to the doctrine of a particular religion.

b The act of appointment of priests etc. is not essential part of religion, therefore does not fall within the protection of these
Articles.

Correct Ans: C

Itemcode : LE1063
Q63: The Governor is required to act on the advice of the Council of Ministers where:

A |The assembly is to be called for a session

B |Some other body has been referred for the purpose of consultation

A report to the President in the exercise of power under Article 356(1) is to made about the breakdown of constitutional

¢ machinery in the state.

D |None of the above.

Correct Ans: A

Itemcode : LE1064
Q64: The Article 51 A of the Constitution does not explicitly provides for

A | Duty to protect the natural environment.

B |Duty to have compassion for living creatures

Cc |Duty to protect and improve the environment and to safeguard the forest and wild life of the country.

D |None of the above.

Correct Ans: S (S Denotes question scrapped and weight-age to all )

Itemcode : LE1065
Q65: The provisions of the General Clauses Act 1897:

A | Do not apply for the interpretation of the Constitution by virtue of Article 366.

B | Do not apply for the interpretation of the Constitution by virtue of Article 372.

c |Apply for the interpretation of the Constitution by virtue of Article 367.

D |Can be applied by the higher courts for the interpretation of the Constitution, if the President so notify by order.

Correct Ans: C

Itemcode : LE1066
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Q66: Which of the Article of the Constitution, mentioned below, provides for reservation of seats for women in Panchayat?

A |Article 243D

B |Article 243B

C |Article 243C

D |Article 243-1

Correct Ans: A

Itemcode : LE1067
Q67: Which from the following concept affect the relationship between the Judiciary and the other branches of state.

A |[Rule of law

B |Separation of Power

C |Botha &b

D |Neitheraorb

Correct Ans: C

Itemcode : LE1068
Q68: 108th Report of Law Commission of India talks about

A |Legitimate Expectation

B |Promissory Estoppel

C |Primary Review

D |[None of the above

Correct Ans: B

Itemcode : LE1069
Q69: The state shall endeavour to secure for the citizens a Uniform Civil Code throughout the territory India as per

A | Article 40
B |Article 43
C |Article 44
D |Article 48

Correct Ans: C

Itemcode : LE1070
Q70: The Supreme Court of India

A |Is a court of record and has a power to punish for its contempt

B |Is the only highest court to appeal

Cc |Is like House of Lords on its judicial side

D |Isin all respect like Supreme Court of India

Correct Ans: A

Itemcode : LE1071
Q71: Right to minorities under the Constitution is “to establish and administer” educational institution of their choice was held by
Supreme Court in ;

Anwar Ali Sarka

M H Qurashi

A
B |Aziz Basha
C
D

Shah Bano

Correct Ans: B

Itemcode : LE1072
Q72: Provisions relating to reservation under Indian constitution are

A |Mandatory provision
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B |Enabling provision

Cc |Fundamental right

D |Fundamental right with limitation

Correct Ans: B

Itemcode : LE1073
Q73: Right to appeal is a

A | Statutory right

B |Natural right

c |Inherent right

D |All of the above

Correct Ans: A

Itemcode : LE1074
Q74: Who has coined the term ‘Transnational law”

A | Philip Jessup

B |Kelson
Cc |Vitoria
D |H.L.A Hart

Correct Ans: A

Itemcode : LE1075
Q75: International Criminal Court does not deal with which of the following

A |Crime against humanity

B |War Crimes

C |Genocide

D |Espionage

Correct Ans: D

Itemcode : LE1076
Q76: Which of the following region does not have a regional convention on Human Rights

A |Europe
B |Asia

C |Africa
D |America

Correct Ans: B

Itemcode : LE1077
Q77: Stipulation between husband and wife conferring the right on the wife to divorce himself which is permissible under Muslim
Law is called

Khula

Talak I Tafweez

A
B |Mubara’st
c
D

None of the above

Correct Ans: C

Itemcode : LE1078
Q78: Where a valid marriage dissolved by the death of the husband the duration of Iddat is

A |Four months and ten days

Four months

C |Three months
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D |Four months and fifteen days

Correct Ans: A

Itemcode : LE1079

Q79: According to Austin the positive law styled customary is established by the state directly or circuitously it is

A |Imperative

B |Tacit command of sovereign legislature

Cc |Both (a) and (b) are true

D |[None of the above

Correct Ans: C

Itemcode : LE1080
Q80: In which of the following offence even ‘preparation’ is punishable

A |Dacoity

B |Extortion

C |Miscarriage

D |Cheating

Correct Ans: A

Itemcode : LE1081
Q81: Which one of the following is a painting by Sardar Sobha Singh who lived at Andretta in H.P. ?

A |Drops of Life

B |[Nude

Cc |Kangra Bride

D |Last Angel

Correct Ans: C

Itemcode : LE1082
Q82: According to 2011 census which district of H.P. had the highest male work participation rate ?

A |Una

B |Solan

C | Sirmour

D |Kinnaur

Correct Ans: A

Itemcode : LE1083
Q83: Which one of the following Dhars is NOT in Sirmour District of H.P. ?

A | Nigali

B |Nohra
Cc |Kamru
D |Bandla

Correct Ans: D

Itemcode : LE1084
Q84: Identify the engineer who designed the Christ church of Shimla ?

A |Alexander Henry Boileau

B |John Theophilis Boileau

c |Damiel Wilson

D |William Hay

Correct Ans: B
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Itemcode : LE1085
Q85: At which place in Solan District of H.P. is HPMC's fruit processing plant ?

A |Saproon

B |Jabli

c |Chambaghat
D |Kothi

Correct Ans: B

Itemcode : LE1086
Q86: With which region of H.P. is Thon Thon festival associated ?

A |[Chamba

B |Solan

C | Sirmour

D |Lahaul - Spiti

Correct Ans: D

Itemcode : LE1087
Q87: Which one of the following princely States was NOT merged with H.P. on April, 15, 1948 ?

A |Sirmour

B |Mandi
C |Suket
D |Chamba

Correct Ans: B

Itemcode : LE1088
Q88: Which scheme was restructured into Pradhan Mantri Awas Yojna (Gramin) in April, 2016 ?

A |Rajiv Awas Yojna

B |Indira Awas Yojna

Cc |Gramin Awas Yojna

D |[None of the above

Correct Ans: B

Itemcode : LE1089
Q89: According to H.P. Economic Survey, 2016-17 what is the capacity of Shongtong Karcham Hydro Electric Power Project ?

A [100 MW
B |130 MW
c [450 MW
D |780 MW

Correct Ans: C

Itemcode : LE1090
Q90: According to H.P. Economic Survey, 2016-17 which two districts have been included in BETI BACHAO BETI PADHAO scheme
in addition to Una ?

Kangra and Bilaspur

Hamirpur and Kangra

A
B |Bilaspur and Hamirpur
C
D

Kangra and Chamba

Correct Ans: C

Itemcode : LE1091
Q91: What name is proposed to be given to (nearly 182 metres) tall statue of Sardar Patel being built in Gujarat ?
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Statue of Unity

Statue of strength

A
B |Statue of Liberty
c
D

Statue of integrity

Correct Ans: A

Itemcode : LE1092
Q92: Which was the last film shot at the R.K. Studio Bombay (now Mumbai) ?

A |Aa Ab Lot Chalen

B |Mera Nam Joker

Cc |Ram Teri Ganga Maili

D |Jis Desh Mein Ganga Bahati Hai

Correct Ans: A

Itemcode : LE1093

Q93: What name is given to spot on India - Pak border from where Gurdwara Kartarpur Sahib (in Pak) can be sighted with the
help of binoculars ?

Ardas point

Nishan point

A
B |Darshan point
C
D

Nigaha point

Correct Ans: B

Itemcode : LE1094
Q94: When was India's orbiter mission to mars (named Mangalayaan) launched ?

A |2010 AD
B [2011 AD
c |2012 AD
D |2013 AD

Correct Ans: D

Itemcode : LE1095
Q95: Who is known as the birdman of India ?

A |Ayyankali

B |Sabir Mehta

Cc |[Salim Ali

D |Ramesh Agarwal

Correct Ans: C

Itemcode : LE1096
Q96: Who among the following was the hero of Vietham war who remained POW for sometime ?

A |[John Hoffman

B [John Mc Cain

Cc |John Karry

D |Mac Arthur

Correct Ans: B

Itemcode : LE1097
Q97: In which country is Lumbani, the birth place of Lord Buddha ?

A |Bhutan
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B |India

Cc |Nepal

D |Tibet (China)

Correct Ans: C

Itemcode : LE1098

Q98: Which is the least densely populated country in the world ?

A |Montenegro

B |Mongolia
Cc |Monaco
D |Moldova

Correct Ans: B

Itemcode : LE1099

Q99: Which disease does red ribbon signify ?

A |Aids
B |T.B.
c |Cancer
D |Obesity

Correct Ans: A

Itemcode : LE1100

Q100: Among the following, in which country there is no personal income tax ?

A |[Senegal
B |Peru

Cc |Bahrain
D [Oman

Correct Ans: S

(S Denotes question scrapped and weight-age to all )
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